name

Batch 505a7ae9

Answers should be rounded to 2 decimal places.

(1)

Compute
—8.7x—17.9
for x = —0.367816.

Compute
0.1z — 3.3)x + 0.9
for x = 21.9083.

Compute

—02x—44
T+ 5.2

for z = —5.58621.

Compute

vValx —9
for z = 9.8439.

Compute

10—6.7$—8.4

for x = —1.454309.

period

(2)

(10)

Evaluate Expressions Version 1

Compute
—62? — 9.4z — 8.8
for z = —1.28027.

Compute
(—8.7x — 9.2)(—9.6z + 6)
for x = 0.10475.

Compute

8.7x%+ 0.7z — 166.1
r—4.4

for x = 4.83938.

Compute

Va2 —24.3
for x = 7.61183.

Compute

101‘2—3.1

for x = —2.17885.



name

Batch 505a7ae9

Answers should be rounded to 2 decimal places.

(1)

Compute
—8.7x—17.9
for x = —1.54023.

Compute
0.1z — 3.3)x + 0.9
for z = 11.1849.

Compute

—02x—44
T+ 5.2

for z = —3.73913.

Compute

vValx —9
for z = 3.97317.

Compute

10—6.7$—8.4

for x = —1.54231.

period

(2)

(10)

Evaluate Expressions Version 2

Compute
—62? — 9.4z — 8.8
for z = —1.97229.

Compute
(—8.7x — 9.2)(—9.6z + 6)
for x = 0.0606954.

Compute

8.7x%+ 0.7z — 166.1
r—4.4

for z = 6.85205.

Compute

Va2 —24.3
for z = 10.8807.

Compute

101‘2—3.1

for x = —2.00345.



name

period

Batch 505a7ac9 Evaluate Expressions Version 3

Answers should be rounded to 2 decimal places.

(1) Compute

—87x—179
for x = —0.471264.

(3) Compute

(0.1x — 3.3)x 4+ 0.9
for x = 25.6241.

(5) Compute
—0.2z — 44
T +5.2
for x = —6.04.
(7) Compute
Valr —9

for x = 4.39024.

9) Compute

10—6.7m—8.4

for x = —1.54959.

(2)

(10)

Compute
—62? — 9.4z — 8.8
for z = —1.03555.

Compute
(—8.7x — 9.2)(—9.6x + 6)
for x = 0.0713011.

Compute

8.7x% + 0.7z — 166.1
r—4.4

for x = 4.91927.

Compute

va?z —24.3
for x = —5.07346.

Compute

103?2—3.1

for x = 2.15785.



name

Batch 505a7ae9

Answers should be rounded to 2 decimal places.

(1) Compute

—87x—179
for z = —1.55172.

(3) Compute

(0.1z — 3.3)x + 0.9

for x = 9.13454.

(5) Compute

—02x—44
r+5.2

for x = —4.55385.

(7) Compute

vValr —9

for x = 2.19756.

9) Compute

1076373678.4

for x = —1.53246.

period

(2)

(10)

Evaluate Expressions Version 4

Compute
—62? — 9.4z — 8.8
for z = 0.189777.

Compute
(—8.7x — 9.2)(—9.6x + 6)
for x = —0.363253.

Compute

8.7x% + 0.7z — 166.1
x—4.4

for x = 4.74094.

Compute

Va2 —24.3
for x = —8.72582.

Compute

10$273.1

for x = —2.17658.



name

period

Batch 505a7ac9 Evaluate Expressions Version 5

Answers should be rounded to 2 decimal places.

(1) Compute

—87x—179
for z = —1.29885.

(3) Compute

(0.1x — 3.3)x 4+ 0.9
for x = 12.3467.

(5) Compute

—0.2x — 4.4
T+ 5.2

for x = —4.11613.

(7) Compute

vV4a.lxr —9
for x = 8.79024.

9) Compute

10—6.7m—8.4

for x = —1.39897.

(2)

(10)

Compute
—62? — 9.4z — 8.8
for z = 0.473758.

Compute
(—8.7x — 9.2)(—9.6x + 6)
for x = 0.108459.

Compute

8.7x% + 0.7z — 166.1
r—4.4

for x = 4.66778.

Compute

va?z —24.3
for x = —9.39681.

Compute

103?2—3.1

for x = 2.16087.



name

Batch 505a7ae9

Answers should be rounded to 2 decimal places.

(1) Compute

—87x—179
for z = —1.16092.

(3) Compute

(0.1z — 3.3)x + 0.9

for x = 7.48612.

(5) Compute

—02x—44
r+5.2

for x = —4.83077.

(7) Compute

vValr —9

for x = 5.18293.

9) Compute

10767m784

for x = —1.53419.

period

(2)

(10)

Evaluate Expressions Version 6

Compute
—62? — 9.4z — 8.8
for z = —1.35803.

Compute
(—8.7x — 9.2)(—9.6x + 6)
for x = —0.0113733.

Compute

8.7x% + 0.7z — 166.1
x—4.4

for x = 4.75193.

Compute

Va2 —24.3
for z = —10.7917.

Compute

10$273.1

for x = —2.23254.



name

period

Batch 505a7ac9 Evaluate Expressions Version 7

Answers should be rounded to 2 decimal places.

(1) Compute

—87x—179
for x = 0.103448.

(3) Compute

(0.1x — 3.3)x 4+ 0.9
for x = 26.4121.

(5) Compute

—0.2x — 4.4
T+ 5.2

for x = —4.64918.

(7) Compute
V4lxz —9
for x = 25.6195.

9) Compute

10—6.7m—8.4

for x = —1.49333.

(2)

Compute
—62? — 9.4z — 8.8
for z = —1.89251.

Compute
(—8.7x — 9.2)(—9.6x + 6)
for x = —0.276687.

Compute

8.7x%2 4+ 0.7z — 166.1
x—4.4

for x = 6.30854.

Compute

Va2 —24.3
for x = 10.0866.

Compute

10172—3.1
for x = —2.16275.



name

Batch 505a7ae9

Answers should be rounded to 2 decimal places.

(1) Compute

—87x—179
for z = —1.73563.

(3) Compute

(0.1z — 3.3)x + 0.9

for x = 7.88316.

(5) Compute

—02x—44
r+5.2

for x = —4.57778.

(7) Compute
V4lr -9
for x = 9.8439.
9) Compute
10767m784

for x = —1.53597.

period

(2)

Evaluate Expressions Version 8

Compute
—62? — 9.4z — 8.8
for x = —1.45187.

Compute
(—8.7x — 9.2)(—9.6x + 6)
for x = —0.0084716.

Compute

8.7x% + 0.7z — 166.1
x—4.4

for z = 5.86505.

Compute

Va2 —24.3
for z = —6.04566.

Compute

10:1:273.1
for z = 2.2297.



name

Batch 505a7ae9

Answers should be rounded to 2 decimal places.

(1) Compute

—87x—179
for z = —1.94253.

(3) Compute

(0.1z — 3.3)x + 0.9

for x = 25.7331.

(5) Compute

—02x—44
r+5.2

for x = —4.33846.

(7) Compute

vValr —9

for x = 7.13415.

9) Compute

10767m784

for x = —1.54.

period

(2)

(10)

Evaluate Expressions Version 9

Compute
—62? — 9.4z — 8.8
for z = —1.79836.

Compute
(—8.7x — 9.2)(—9.6x + 6)
for x = —0.548223.

Compute

8.7x% + 0.7z — 166.1
x—4.4

for x = 4.65369.

Compute

Va2 —24.3
for x = —5.71927.

Compute

10$273.1

for x = —2.23808.



name

period

Batch 505a7ac9 Evaluate Expressions Version 10

Answers should be rounded to 2 decimal places.

(1) Compute

—87x—179
for z = —1.85057.

(3) Compute

(0.1x — 3.3)x 4+ 0.9
for x = 25.8408.

(5) Compute
—0.2z — 44
T +5.2
for x = 6.
(7) Compute
Valr —9

for x = 22.3927.

9) Compute

10—6.7m—8.4

for x = —1.5393.

(2)

Compute
—62? — 9.4z — 8.8
for z = —1.83861.

Compute
(—8.7x — 9.2)(—9.6x + 6)
for x = 0.0405034.

Compute

8.7x% + 0.7z — 166.1
r—4.4

for x = 4.91927.

Compute

va?z —24.3
for x = —5.12445.

Compute

10172—3.1

for x = —2.20221.



name

period

Batch 505a7ac9 Evaluate Expressions Version 11

Answers should be rounded to 2 decimal places.

(1) Compute
—8.7x =179
for x = —1.20609.
(3) Compute

(0.1x — 3.3)x 4+ 0.9
for x = 21.8151.

(5) Compute

—0.2x — 4.4
T+ 5.2

for x = —5.56129.

(7) Compute
Vilxr —9
for x = 14.8309.
9) Compute
10—6.7m—8.4

for x = —1.50274.

(2)

(10)

Compute
—62% — 9.47 — 8.8
for x = —0.269903.

Compute
(—8.7x — 9.2)(—9.6x + 6)
for x = —0.456097.

Compute

8.7x%2 4+ 0.7z — 166.1
x—4.4

for x = 6.48565.

Compute

Va2 —24.3
for x = 8.39881.

Compute

103?2—3.1

for x = 2.21407.



name

Batch 505a7ae9

Answers should be rounded to 2 decimal places.

(1) Compute

—87x—179
for z = —1.86207.

(3) Compute

(0.1z — 3.3)z + 0.9

for x = 24.453.
(5) Compute
—0.2z —44
T+ 5.2

for z = —5.96364.

(7) Compute

vValx —9

for z = 15.5512.

9) Compute

10—6.7$—8.4

for x = —1.36304.

period

(2)

(10)

Evaluate Expressions Version 12

Compute
—62? — 9.4z — 8.8
for z = —1.80654.

Compute
(—8.7x — 9.2)(—9.6z + 6)
for x = 0.016018.

Compute

8.7x%+ 0.7z — 166.1
r—4.4

for z = 5.1511.

Compute

Va2 —24.3
for x = 7.61183.

Compute

10.1‘2—3.1

for x = 2.25338.



name

Batch 505a7ae9

Answers should be rounded to 2 decimal places.

(1) Compute

—87x—179
for x = —0.0804598.

(3) Compute

(0.1z — 3.3)z + 0.9

for x = 8.36059.

(5) Compute

—02x—44
T+ 5.2

for z = —4.62069.

(7) Compute

vValx —9

for x = 11.8756.

9) Compute

10—6.7$—8.4

for x = —1.51557.

period

(2)

(10)

Evaluate Expressions Version 13

Compute
—62? — 9.4z — 8.8
for z = —0.153298.

Compute
(—8.7x — 9.2)(—9.6z + 6)
for x = 0.0952852.

Compute

8.7x%+ 0.7z — 166.1
r—4.4

for x = 4.91927.

Compute

Va2 —24.3
for z = 10.6141.

Compute

10.1‘2—3.1

for x = 2.152009.



name

Batch 505a7ae9

Evaluate Expressions

Answers should be rounded to 2 decimal places.

(1)

Compute
—8.7x—17.9
for x = —1.64368.

Compute
0.1z — 3.3)x + 0.9

for x = 22.765.
Compute
—0.2x — 44
x4+ 5.2

for x = —4.80471.

Compute

vValx —9
for z = 5.90488.

Compute

10—6.7$—8.4

for x = —1.53874.

period

(2)

(10)

Version 14

Compute
—62% — 9.47 — 8.8
for z = 0.303073.

Compute
(—8.7x — 9.2)(—9.6z + 6)
for x = 0.0754355.

Compute

8.7x%+ 0.7z — 166.1
r—4.4

for z = 6.43176.

Compute

Va2 —24.3
for z = 10.8807.

Compute

101‘2—3.1

for x = —2.07911.



name

Batch 505a7ae9

Answers should be rounded to 2 decimal places.

(1) Compute

—87x—179
for z = —0.45977.

(3) Compute

(0.1z — 3.3)x + 0.9

for x = 11.0917.

(5) Compute

—02x—44
r+5.2

for x = —5.76949.

(7) Compute

vValr —9

for x = 2.23415.

9) Compute

10767m784

for x = —1.51254.

period

(2)

(10)

Evaluate Expressions Version 15

Compute
—62? — 9.4z — 8.8
for z = —1.24551.

Compute
(—8.7x — 9.2)(—9.6x + 6)
for x = —0.345946.

Compute

8.7x% + 0.7z — 166.1
x—4.4

for x = 5.99049.

Compute

Va2 —24.3
for z = —9.0587.

Compute

10$273.1

for x = —2.25358.



name

Batch 505a7ae9

Answers should be rounded to 2 decimal places.

(1) Compute

—87x—179
for z = —0.551724.

(3) Compute

(0.1z — 3.3)x + 0.9

for x = 10.235.
(5) Compute
—0.2z —44
T +5.2

for x = —3.22353.

(7) Compute

vValr —9

for x = 3.48537.

9) Compute

10767m784

for x = —1.51715.

period

(2)

(10)

Evaluate Expressions Version 16

Compute
—62? — 9.4z — 8.8
for z = 0.40562.

Compute
(—8.7x — 9.2)(—9.6x + 6)
for x = —0.350482.

Compute

8.7x% + 0.7z — 166.1
x—4.4

for x = 4.70823.

Compute

Va2 —24.3
for z = —7.09295.

Compute

10$273.1

for x = —1.54953.



name

Batch 505a7ae9

Answers should be rounded to 2 decimal places.

(1) Compute

—87x—179
for z = —1.48276.

(3) Compute

(0.1z — 3.3)x + 0.9

for x = 22.8443.

(5) Compute

—02x—44
r+5.2

for x = —4.61053.

(7) Compute

vValr —9

for x = 19.8171.

9) Compute

10767m784

for x = —1.54919.

period

(2)

(10)

Evaluate Expressions Version 17

Compute
—62? — 9.4z — 8.8
for z = —1.58766.

Compute
(—8.7x — 9.2)(—9.6x + 6)
for x = —0.54093.

Compute

8.7x% + 0.7z — 166.1
x—4.4

for x = 4.78742.

Compute

Va2 —24.3
for x = —8.07837.

Compute

10$273.1

for x = —1.88339.



name

period

Batch 505a7ac9 Evaluate Expressions Version 18

Answers should be rounded to 2 decimal places.

(1) Compute

—87x—179
for x = —2.03448.

(3) Compute

(0.1x — 3.3)x 4+ 0.9
for x = 7.48612.

(5) Compute
—0.2z — 44
T +5.2
for x = —5.648.
(7) Compute
Valr —9

for x = 13.4732.

9) Compute

10—6.7m—8.4

for x = —1.2088.

(2)

Compute
—62% — 9.47 — 8.8
for x = —0.102443.

Compute
(—8.7x — 9.2)(—9.6x + 6)
for x = 0.0855236.

Compute

8.7x% + 0.7z — 166.1
r—4.4

for x = 4.81551.

Compute

va?z —24.3
for x = —5.05074.

Compute

10172—3.1
for x = —2.2338.



name

Batch 505a7ae9

Answers should be rounded to 2 decimal places.

(1) Compute

—87x—179
for z = —1.73563.

(3) Compute

(0.1z — 3.3)x + 0.9

for x = 13.4586.

(5) Compute

—02x—44
r+5.2

for x = —4.63051.

(7) Compute
V4lr -9
for x = 26.1.
9) Compute
10767m784

for x = —1.51047.

period

(2)

(10)

Evaluate Expressions Version 19

Compute
—62? — 9.4z — 8.8
for z = 0.486947.

Compute
(—8.7x — 9.2)(—9.6x + 6)
for x = —0.482138.

Compute

8.7x% + 0.7z — 166.1
x—4.4

for x = 4.67236.

Compute

Va2 —24.3
for z = —5.05074.

Compute

10$273.1

for x = —2.21681.



name

Batch 505a7ae9

Answers should be rounded to 2 decimal places.

(1)

Compute
—8.7x—17.9
for x = 0.126437.

Compute
0.1z — 3.3)x + 0.9
for x = 25.

Compute

—02x—44
T+ 5.2

for z = —4.38049.

Compute

vValx —9
for z = 2.98537.

Compute

10—6.7$—8.4

for x = —1.54395.

period

(2)

(10)

Evaluate Expressions Version 20

Compute
—62? — 9.4z — 8.8
for z = —1.80654.

Compute
(—8.7x — 9.2)(—9.6z + 6)
for x = 0.0671065.

Compute

8.7x%+ 0.7z — 166.1
r—4.4

for x = 4.70019.

Compute

Va2 —24.3
for x = 7.6883.

Compute

101‘2—3.1

for x = —2.15327.



name

period

Batch 505a7ac9 Evaluate Expressions Version 21

Answers should be rounded to 2 decimal places.

(1) Compute

—87x—179
for z = —1.62069.

(3) Compute

(0.1z — 3.3)z + 0.9

for x = 22.765.
(5) Compute
—0.2x — 4.4
T+ 5.2

for x = —4.589009.

(7) Compute
V4lxz —9
for x = 6.29512.

9) Compute

10—6.7m—8.4

for x = —1.42098.

(2)

(10)

Compute
—62? — 9.4z — 8.8
for z = —1.24551.

Compute
(—8.7x — 9.2)(—9.6x + 6)
for x = —0.55712.

Compute

8.7x%2 4+ 0.7z — 166.1
x—4.4

for x = 5.94431.

Compute

Va2 —24.3
for x = 6.2857.

Compute

103?2—3.1

for x = 2.1793.



name

Batch 505a7ae9

Answers should be rounded to 2 decimal places.

(1) Compute

—87x—179
for z = —1.08046.

(3) Compute

(0.1z — 3.3)x + 0.9

for x = 13.6277.

(5) Compute
—0.2x — 44
T +5.2
for v = —5.872.
(7) Compute
Vilz —9

for x = 3.27073.

9) Compute

1076373678.4

for x = —1.43505.

period

(2)

Evaluate Expressions Version 22

Compute
—62? — 9.4z — 8.8
for z = 0.391519.

Compute
(—8.7x — 9.2)(—9.6x + 6)
for x = —0.363253.

Compute

8.7x% + 0.7z — 166.1
x—4.4

for x = 6.52576.

Compute

Va2 —24.3
for z = —10.3494.

Compute

10:1:273.1
for x = 2.01231.



name

period

Batch 505a7ac9 Evaluate Expressions Version 23

Answers should be rounded to 2 decimal places.

(1) Compute

—87x—179
for z = —1.05747.

(3) Compute

(0.1z — 3.3)z + 0.9

for x = 11.783.
(5) Compute
—0.2x — 4.4
T+ 5.2

for x = —5.55368.

(7) Compute
V4lxz —9
for x = 2.49024.

9) Compute

10—6.7m—8.4

for x = —1.53834.

(2)

Compute
—62? — 9.4z — 8.8
for z = 0.127862.

Compute
(—8.7x — 9.2)(—9.6x + 6)
for x = —0.542769.

Compute

8.7x%2 4+ 0.7z — 166.1
x—4.4

for x = 5.43678.

Compute

Va2 —24.3
for x = 9.82599.

Compute

10172—3.1
for x = —2.20151.



name

Batch 505a7ae9

Answers should be rounded to 2 decimal places.

(1) Compute

—87x—179
for x = —0.735632.

(3) Compute

(0.1z — 3.3)x + 0.9

for x = 7.59775.

(5) Compute

—02x—44
r+5.2

for x = —4.81818.

(7) Compute

vValr —9

for x = 3.97317.

9) Compute

1076373678.4

for x = —1.54993.

period

(2)

(10)

Evaluate Expressions Version 24

Compute
—62? — 9.4z — 8.8
for z = —1.32826.

Compute
(—8.7x — 9.2)(—9.6x + 6)
for x = —0.509952.

Compute

8.7x% + 0.7z — 166.1
x—4.4

for x = 4.94838.

Compute

Va2 —24.3
for z = —9.56765.

Compute

10$273.1

for x = —2.2507.



name

period

Batch 505a7ac9 Evaluate Expressions Version 25

Answers should be rounded to 2 decimal places.

(1) Compute

—87x—179
for x = —1.72414.

(3) Compute

(0.1x — 3.3)x 4+ 0.9
for x = 9.84793.

(5) Compute

—0.2x — 4.4
T+ 5.2

for x = —3.73913.

(7) Compute
V4lxz —9
for x = 2.43902.

9) Compute

10—6.7m—8.4

for x = —1.53281.

(2)

(10)

Compute
—62? — 9.4z — 8.8
for z = —1.06667.

Compute
(—8.7x — 9.2)(—9.6x + 6)
for x = 8.32667¢ — 017.

Compute

8.7x%2 4+ 0.7z — 166.1
x—4.4

for x = 5.5117.

Compute

Va2 —24.3
for x = 8.97497.

Compute

103?2—3.1

for x = 2.21918.
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